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Candidates must write the Code on the
title page of the answer-book.
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H 10.15 S TR ST | 10.15 91 & 10.30 51 T ST hadl TH-9 I Tl
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e Please check that this question paper contains 15 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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Time allowed : 3 hours Maximum Marks : 70
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HTHT=T (3397 :

G) @ I HAAE E |

(ii) o7 B PT GEIT24 3 |

(iii) HcI® JoT & 3% 3% G T T & |

Gv) Y97 G&a71 @ 5 a% 3ld Tg-3R aict F97 &, Je9% J97 BT 1 37 8 |
(v) I &I 6 G 10 T TY-IR qI7 97 &, T9%F Jo7 & 2 3% & |

(i) YT GEIr11 @17 % -3/ —1 a1 397 8, 9 J37 3 3FH 3 /
(vii) I97 G&IT 18 T 21 % 1d-FH — I It J97 &, 9% Jo7 & 4 3% 5 /
(viii) Y97 G&IT 22 G 24 T Ha-4/IcHb It qIct J97 &, Jedh J97 & 6 3% 3 |
(ix) I¥1 & I Glerg 3k arnfefa & |

General Instructions :

(i)
(i)
(iii)
(iv)

(v)
(vi)

(vii)

(viii)
(ix)

All questions are compulsory.

There are 24 questions in all.
Marks for each question are indicated against it.

Questions No. 1 to 5 are Very Short Answer type questions, carrying

1 mark each.
Questions No. 6 to 10 are Short Answer type questions, carrying 2 marks each.

Questions No. 11 to 17 are Long Answer type — I questions, carrying 3 marks

each.

Questions No. 18 to 21 are Long Answer type — II questions, carrying 4 marks

each.
Questions No. 22 to 24 are Essay type questions, carrying 6 marks each.

Answers should be brief and to the point.
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PART A
59 YT G 1 37 a1t 5 Y97 & | 57 9] 7 IR U Ie7 & U Fia § FHow |

This part contains 5 questions carrying 1 mark each. Answers to these questions
should be from one word to one sentence.

1. iR foweer’ s @ 31 B 2 1
HAAAT
Fayada 1w Ad ] 2 1
What is meant by ‘environment analysis’ ?
OR

What is meant by ‘innovation’ ?

2. Torslt @meq o fotu “Srarss wewqul i 2 1
HAAAT
Teh SUS/STUE 19 i fafereh Tran i ygH shi AT =Tfay 2 1
Why is ‘tagline’ important for an organization ?
OR

Why should brand/brand name be given legal protection ?

3. ‘e w1 wIR fafiee’ 3 1 @ W gu 9 & foshew o w9 ¥ fafva w@ra) & @
39 ! Wega foan 1o fia 9 o1 Tk Ty fohed foam S & |
HITHT g FaHd Jed & YR i Tg=H hHiT | 1

‘FitNsure Ltd.” introduced an alternate to aerated drinks in the form of

soya milk with different flavours in order to give a healthy option for soft

drink.
Identify the type of added value by the company.

4. Toxfia veoa & fopeel 31 3eval 1 3g@ HIT | 1

State any two objectives of financial management.
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5.

39 fafire foeia geom it vg=m Hifve & wrde fod d& 6 qoi @i
Tt HFT o ®Y H TATUG ToRa =T 91 39 9URG | SN k! A€k fod
Y i Il ai=d GEAE HHET STaT 8 |

Identify this specialized financial institution that was established as a
wholly owned subsidiary of the Reserve Bank of India and is regarded as

the apex institution for term finance of industries in India.

oo
PART B

5 YT 2 37 qIc1 5 Y9 & | 57 Y9 7 IR 50 @ 75 Jsel 4 i@ |

This part contains 5 questions carrying 2 marks each. Answers to these questions
should be in 50 to 75 words.

6.

TR &9’ % T @id o 9 H Hal-&F-f=Ri’ Sl ey |
areat

‘o &’ % Uk 9id o ®9 H SER-EEied R’ sl S9esy |

Explain ‘Service-sector-ideas’ as a source of ‘idea field’.
OR

Explain ‘Market-driven ideas’ as a source of ‘idea field’.

HGL T Teh hARIUT Hid ITAT THIT, I 3 H AfRh Ifg T =mgan o |
3ok AR T @ 7 3H HARIV o &5 H AR o 9R H Gred & foe
HE | TsF TR H AR & YIdH IAE i ad e o =
SicaTied i arel fREMI qem UIUehRl i Tgrd (Tfedet) g <t = i |
T a7 Se W e e 9ueR-aT g @1 o1, 3EH el § YT e
arelt efE, T T STE ¥ i Wt THIC BTN HL Tohdl & qol Il
T T ATRdH TG Ll 2, o fo9T T Ugl | el & o< &, 8 ®all &
qeh o YT HTHTIA: theb [T JTaT 8, 384 €W fehrer @ fofu 39 osfa &
T 1 0 fofam | 30 o 1 3 IR0 U IR SR ® S a8 Al
JMETIHATHT b FTEY TATEvI-fEat HuST TR AL 2 |

39 qieh I yg=aH hifsre e W 3 IR Sl STavHehdT Sl GHE 9 36 W
SR R |
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Ramaya, a banana planter from Madurai, wanted to supplement his
income. His friend, Shekhar, who is a weaver suggested him to think of
the scope of ancillarisation in banana plantation. The State Government
announced subsidies to those farmers and planters who minimise the
waste production and promote sustainable development. One day while
Ramaya was going through the local daily newspaper, he read about
banana fiber extracting machine which can be easily operated by
unskilled workers and gives maximum output of fibers. He decided to buy
the machine for extracting fibers from banana stem which is generally
thrown away after the fruits are reaped. This fiber has a ready market
with weavers who are making eco-friendly fabrics as required by the
young generation.

Identify the way in which Ramaya understood the need of the market
and worked on it.

8.  ‘IIAdA I YETeH FAINH 1 Tk HEqUl a I /T ST 8 ? 2
AYAT
I8 T Hel a7 fob Jaer e erar fRsm fifse @ gifeaa s
3? 2
Why is ‘follow-up’ regarded as an important element of operational plan ?

OR
Why is it said that operational plan ensures ‘work your plan’ ?

9.  TorHl WEA o ToTT “TIEX I oI sf@ar AT AT T GoH ohdl HLd @ ? 2

How does ‘Porter’s value chain’ create competitive advantage for an

organization ?

10. TId T AT GoHIH Atk & S gHIN UH Favadd 3cqral a1 &arsli
HE AT B T EA-HET bl T qAT oo o9l 8 | 3Ed Uk udl
TR-HEYR fesmea foron fad gan 3g @ i mefie stafifga of | wifes 3@
fopell ok @ =g Tl wemIaT ITH 181 83 37d: IWA Th SAfew Sl IgH H
areft wH faat de @ Traeh fohe | grertfes fatar de 9 fomm &t wee forn weg
3aq seH feufa (dfen ©) o Tua Y ggear | T R T S war
fop afe 38 gEt R # fot <l sTremashat &1 1 98 Qe §¥aeh TTfud Y |
At o = S St & % foT Fi w0 foRa, SeteR 98 gER QR % T fem
o o foTw &R o ? guEsu | 2
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Raghav is a very creative person and has always been working on
innovating products and services that can make the living healthy and
hygienic. He developed a design for an air-conditioner with an inbuilt air
purifier. Since he did not get any financial support from any bank, he
approached Nirvana Vent, a venture capitalist firm. Though Nirvana
Vent liked the idea but it refused to help Raghav at the seeding stage and
asked him to come again in case he needed funds during the second
round financing.

Why was seed capital not given by Nirvana Vent whereas it was ready to
fund the second round financing ? Explain.

e
PART C

39 YIT 4 3 37% qrat 7 Y97 & | 37 ¥l H7 3K 100 I55] § S5 |

This part contains 7 questions carrying 3 marks each. Answers to these questions
should be in about 100 words.

11.

12.

“STer valaRor § uftadd & dreh | @1 9, Ush ITH TG0 hl I8 hL Tehdl
7, T 3 AT o e ISt i g THT hl TS bl & a1 JTHT ol
ITW 6l Sfa fmior & o geesiia 91 gt 2 17 gveET |

“By keeping in touch with the change in the external environment, an
enterprise can identify opportunities and find strategies to capitalize on
the opportunities at the earliest and sensitize the entrepreneur and help
him to build image of his business.” Explain.

I S I TR T I YT qTNETER HaH™ Sl A9 o fou 3
3T &l o1 | fh FeU™ 3k THR ° T I W A IFq: g I
qTiETier saa| ™ ATHT 81 I8l A7 | I A IR ITFEU hl @ISl 3Y
&1 | T T I 98 T HiSHIOE H SIUE Skl WHT @1 @1 o1 364 Alfcleh ol
ST § 3TN hl ST Tl TATESeh T AT o sidAl oh 9 H 37
T BT o T § oG Hd gL YT | YSHIcHS GICshIvl B o HIUT I8
19 I el & e fasedt & sR T e ey e | 399 39 famm &t
==t 39 fUar @ i S8 38 39 fomm & @1y A1 w4 61 o < wifh I8
e w oS gor ot 3w § uiafdd &t S |

(31) 3 ufshan i gg=H hifore TeH T fo=m 1 anfurfsae qed arct 39
4wl g Hieferd 2 |

() ST (31) ® ugad i TS UfshAT T WiHfeId el &1 3g@ HIfT |
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Yash was not too keen to take up his family run business-making bamboo
baskets. As the business was not doing well, he did not want to take up
his family business. He started searching for new market opportunities.
One day while having food in a restaurant, he overheard the owner
talking about the difficulty in disposing the plastic and thermocol
crockery used in the restaurant. Being creative in his approach, Yash
started looking into various options of making bamboo plates which can
be used in restaurants. He discussed the idea with his father who advised
him to go ahead as this idea will translate into an application which has
commercial value.

(a)  Identify the process which involves the translation of a useful idea

into an application which has commercial value.
(b)  State the elements involved in the process identified in (a) above.

13. o foermernht fen o W gA9 9 T ITER Yoy HeTfaarad § vew fom |
3G+ heh Hehd H TafSTeed U8 T | 79T rSwshA QU1 S < IR 394 3T
3 il < WY @S H TH AR hl G ST H | T G gL 9% @l
g Tk oheh Iod TUIET dTelt AT & ST S o |
TaFEX WE W gud Sl 984 1 (G 3 dTal o a9 gl "t 4 39
St o T T sheh S T ST TohaT | gHAT J 3194 T W U 8
ST o Tt Tk oheh ST |
A G IHh! 8 o TIQ a1 I8eh! goh W Torica Tiafafer sl Sepfd hi
ygaH hIfe 9ot 3g@ S | 3
Suman joined a catering college after finishing her schooling. She
specialised in baking cakes. After finishing her course, she along with her
two friends started a bakery shop in Lucknow. Her shop was an instant
success as the cakes were produced with high quality ingredients.

In the month of November, Suman’s sister’s birthday approached and her
mother requested her to bake a cake for the birthday. Suman baked a
cake for her sister at their home for her sister’s birthday.

Identify and state the nature of activity performed by Suman for her
sister and at her shop.

14. &g Ry & fmt &1 3g@ Fifse | 3
AT
‘oo fasr’ =1 1 219 B 2 3 Al 1 3gE HINT | 3
State the rules for goal setting.
OR

What is meant by ‘marketing mix’ ? State its elements.
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15. “Oei % U SAfUeh ITIAMT Tl U I7UG BN o i h [T HTHH

TERA qAT HATAT H Teh FCAE Hleh WA (o) SAredl & |7 Ig SISl T8
uAifirar forfter den faum ofties & fim 2 | 8, 3g@ SV | 3

“Business adds value to goods and services by modifying them in a

particular way to create a new product for greater value to customers.”
This added value is different from financial and marketing perspective.
State how.

16. UTH fafdme @R arfve 1000 fogq-tfea 9t St diaai 61 fosht s 8 | 3amg
&1 Wi EEY 7 | Ufd Sqd Ard Jod T 50 8 | 91k R0 AN 3 AR
&1 10% 3 | 9fd 3Tew, 3Tey Ard T 1002 |

fafime TR & fou Sraai Sl i STTe™ |1 i TUMET I | 3
3tera
T Uhg T8 STIHM ol foehf&d i <hl fshaT Sl ST | 3

A speciality store sells 1000 insulated water bottles annually. Demand
for the product is uniform. Purchase cost is ¥ 50 per bottle. Holding cost
per annum is 10% of purchase cost. Ordering cost is ¥ 100 per order.
Calculate the Economic Ordering Quantity of the bottles for the speciality
store.

OR

Explain the process for developing a cash flow projection.

17. @& 0 % A4 % T FAq T % HIY o4 7q A6 9 &
$S Al gIcd Td FHifdn awehard gidl § | T e o fau W foheel

B: qrtrcal ta fafdn sragaeshdist 1 3g@ IS | 3
SDC]

T Y R aio foee de & foheel @9 foeeremcres sl e feegl dF

e st =1 3gE Hif | 3

In addition to the benefits to going public, i.e. bringing public issue to
generate funds for the organization, there are many additional
obligations and reporting requirements. State any six such obligations
and requirements for an organisation.

OR
State any three development functions and any three regulatory
functions of National Bank for Agriculture and Rural Development.

DA%nl oaded From : http://cbsepbrtal .com Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.com
"I §
PARTD
5T YT H 4 37 17 4 97 & | 57 F971 1 IR 150 F1551 H G |

This part contains 4 questions carrying 4 marks each. Answers to these questions
should be in about 150 words.

18. UTHSH Hhl HHA Th AT §Ug &k €9 A fohfea &1 w8 7 | fava i
8 921 BB BTHT BT B o 1d Ig ST bl SIS ATGHIRIS Ta9d
H TR qca YgH Il Wl 8 | 3, HFH WRAE SR H JES e =nEd
3 | F=1 4 & uRral 3gd A U N I TSR, ST, ETHTNh, TehHiehl,
faferer o wieRoiiy TAMoAT 1, 37 AJHA qe idegd TR 1 HoTeh
HITT ST S HraT Bl RAE 9T | Y99 o I T i |
1991 ¥ & YRAE fefegewal H %3 Hh[cHs (% GUR 3T & o facsh
HEA & T Tk 3131 SRS e IO g AT & d9T 399 foesft
Frowrent o1 <N T AT W B BT TUG B AT 8 | YRA B THEG TSIeqew T
! &I W WA gY, ARTE! bl SfeeAaratt o foraft geaer ferw o f=rsor qen
fafrme o foft wRa § T O 39 & WIegq | AW R TS BN
YT Teh AT HFAT o 1Y WHIdeh MUR W TS S GHIfed TSl {deh
TIE § Ia0T Y L Goh | 39b SAfdh 39 gaq™ faantEn oF .54 .E,
SRET 3G | 39 Ity 1 AT ST IS Tohdl 8 | 38 UTE fAfimse i
1 Fgd! 7T, e HRO St g5 Bkl TER(d a1 fava § Fedl g3 #7=a 2oft
Y A 9¢H 1 TE 8 | 94 % H LGTET Tddl UTgehl ol AThNd hid
o 3aes uta srfirer TaTEeade Il i HwAr 9 1 Y ITET B | Hihl
foREm g ST I TR TS WTENfIhAl X STHTRG IO b 9 7O ST
G &A1 T 1 i FTEX g | Weg W H ITIN hl T A1t fofimse ikt
w1 i Sl 3 ISl % R THH 36k 3Gl & faepeq o Iucrewa
§G Gohdl & HFHT Sl AU B Tehdl & | HFG 4 U SICIA 3UTGT ol
U:Eshui YR W EATfad e R Ao oft o el 3 1w fomia:
faepaeiiar oot # 9gd 3T USR A 38 #fie SR 1 959 % g @l

EE TR 4
‘Tastebuds Coffee’ Company has grown to an international brand. As the
world’s biggest coffeehouse company, it continues to lead the industry in
sustainable business and innovation. Now, the company wants to enter

the Indian market. Quoting the lines from the following, evaluate
favourable and unfavourable conditions in the country’s political,
economic, social, technological, legal and environmental setting that the
company should consider to enter the Indian market.
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The Indian economy has been subjected to a series of positive economic
reforms since 1991 which had created a better working environment for
foreign companies and has made it possible for foreign investors to
operate in the country more easily. Taking into consideration the polity
in India as a whole, the bureaucracy complications and the regulatory
FDI controls and regulations, it is safer for it to enter India only via a
joint venture or a strategic alliance with an Indian company that can
provide a buffer from possible political tension. Furthermore, it can face
some opposition from the existing competitors like CCD, Barista, etc. It
has opportunity to increase its revenues based on increasing demand for
speciality coffee, which is due to a growing coffee culture and a growing
middle class around the world. Also, the company has the opportunity to
widen its array of more healthful products to attract health-conscious
consumers to its cafés. The company also has the opportunity to improve
its supply chain efficiency based on new technologies used by coffee
farmers. However, the rising availability of home-use speciality coffee
machines is a threat to the company because it increases the availability
of substitutes to its products. The company also has planned to offer most
of its products in recyclable packaging. However, increasing employment
regulation, especially in developing countries, threatens its access to the
labour market.

o

19. “sra fafoe ifedea qen IWT=T Tat o 919 Toh HFIHI HiAH Ak & Trg Hd

<

& & Hifta &5 & g1 |7 gues | 4

“A company is an artificial person with separate legal entity and common
seal but with a limited scope of action.” Explain.

20. TS UUSd o &I vl ol U | 4
HAAAT
oot den Afemgw & fRgl =R RO ! FWST | 4
Explain the main ingredients of a franchise agreement.
OR

Explain any four reasons for mergers and acquisition.

21. ‘39 SNt foa’ o wrerg § gEeTT foitem feufa’ w1 wwemsT | 4
HAAAT
‘o Fawres’ 1 forgl I famiwareti = gaemsy | 4
Explain ‘early stage financing’ with respect to ‘Venture Capital Finance’.
OR

Explain any four features of ‘Angel Investors’.
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PARTE
3G YT H 6 37 qIt 3 YT & | 37 I T I 200 V55! 7 @ /

This part contains 3 questions carrying 6 marks each. Answers to these questions
should be in about 200 words.

22. TUQETE o HIad o RIeTRR 3Rfog Aec hl SAMR ¥’ | Th wid off FaH
g diaal ¥ & 3I7UTST ! YSRid L T@T o7 | 98 |l &l O § IE Hieh &g
Bl o THA qAT AY-IIGH ST AT Sl 8 | 3H ST <l 3=t gfafshard urg
T a1 facef seetE @ qsas Wt fiefl | 98 @ oeied s | T TR
g sE § geat et @ S8 fiaasei)’ o A ° S S | 38 g
39 3T hl GYTSIAT d9T U 39 o fou foxfia Ufdergar sl S+ shl SqTargehd
2|
394 focite Tgrdar o fu <1 S @ TF9eh fopam | T9ueh 4 3HH @ e&aras A |
L. Teh ST9eh &Sl o 3T9 IE i B AftAfcTa SATdieh qeim sl awdl

%1 qUH 7T |

II. 393 CEaTdsl o1 Teh 3U-ATT 91 Jeiersh o =T T91 <l THse i :
() 3IUH o w1 (o Tafire afemafoat 4 8 fomn smam 2
(i) o U1 % AN WA Hedl GRI ITAN T I a1t for o

3 G T 3 ?

(iii) 3 SIS <1 AU T =T 3 ?
(iv) 1S hl Pl IRIqIRIA qAT TARA O Sl QU A o 0T
fosha h1 Topal aTawerehar BT, $&eh1 gl sRia o ¥
AT ?
IS T T T T8 IR ¢4 & AT Rfaeg Hoe] 1 4 g&dae d9) i 08 |
(%) =AY A fohd 10 & ST AT 8 2
(@) onfamg Hoc] ! SIS TEATAS HT DHIH-AT Y-HFT IR HEAT TS 2
()  TEYH H T P HGIE HH b U I Ao g for@ I A
STk CEATaS o IU-9TT o fafiys a<ai <hl ug=m shifsw e gwemsy | 6
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Arvind Mallu, a brass artesian from Moradabad had a stall in the ‘Trade

Fair’ showcasing his range of products made of brass. He manufactures
and sells from saree pins to big flower-vases and lamp-shades. He got
good response from the public and even enquires from foreign
businessmen. He wants to switch from an unorganized unit to a
well-planned unit which would be called ‘Peetalkari’. For this he needs to
know the feasibility of the enterprise and the potential financial

commitments for the new venture.

He approached Dena Bank for financial assistance. The manager asked

him for two documents.

I A comprehensive document that describes the external and

internal elements involved in starting his enterprise.

I1. A sub-part of the above document that will satisfy the following

queries of the manager :

1) How will the funds of the enterprise be invested in different

assets ?

(i1)  Apart from bank loan, what are the other sources of finance
that Arvind Mallu would use ?

(iii) What is the projected profit for the new unit ?

(iv) How will Arvind Mallu determine the volume of sale
required to cover the total variable and fixed expenses of his
unit ?

Arvind Mallu had to draft the two documents clearly stating the answers

for the query raised.

(a) By what name is the comprehensive document known as ?

(b)  Which sub-part of the comprehensive document is to be prepared
by Arvind Mallu ?

(c) Identify and explain the different components of the sub-part that

Arvind Mallu is required to write in his comprehensive statement

to satisfy the queries of the manager.
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23. IE TINY H TH YTAH hi T dret ThR 7 eH gurfad wrgehi bt Sfo=nfim
% IUTC hl DISH HH o Icdel a7 BTl 1 ==¥9 Hid o o€ G feram
AT 8 | 91fod Jidishamd asft I8 hl ST Hehd! & S $8eh (A & HIH |
e g S |
(%) STIE ° afvia AR o fohegl al LT T 3@ HIMT |
(@) o Hi-dt gfafshamd & S8 TN 1 I8 JehR ITH Hdl @ ?

() 38 91eA9 © GUYOT 1 e S o e orgERen foh S aret femt st

HHSATRT | 6
HYAT

fohra 1 Bl < @ hl T @ AW HI T W GR off Tal 98 had SAfaeh
Tfeort qem ®ell o T S=dl o7 | Rifeh $9 &I I TaaH qehr1ehl & qUT TRAHT
& g Ta=s it & ary fehren Srar o 3ra: 9 wen 9 | 37 Wi o fafre
U 3 | Y98 o R & fou fawma 3 9 ferensier it gftfa 9 9= =@
IR 3N I® fohr | |eft 1=eete fopte 6t Srmel W 9 | foeera 3edted i
TUTeRAT @ O i A9 S fedfa § €l o | 3rd: 98 weatfad TurEn % faw
Tl | ATHITATE 3= Tal ot IRT | Bl de Ffestdl 1 Fal 39 T3l &l
7 W O S uery 9¢ M | @) ITsedel H fas¥ ue W dem I8
THfa=sE TR § A9 9 T | 39 YR SE-379 | o g e
S[EI 1 ST FH S HH oI W T hl | 6! T4 gC off fasme
3T TTEh-TER Sl IR T I YT T8l okl |

UTUTEEEY Teh 99 o 3Tgt & U g1 W 30 @eff ©: T13eete §g & U8 |
3T 3T<oq Y Uikl 3gd id g faeh¥ % AU % 3TE®A B o fohal
IR FHRON skl g hIfTT qAqT I8 HSATST | 6

This is a paid form of communication designed to persuade potential

customers to choose a product or service of the firm over that of a
competitor. The desired responses will only be elicited when the rules for
its planning are considered.

(a)  State any two objectives of the above mentioned concept.
(b)  What are the responses that this form of communication elicits ?

(c) Explain the rules that are to be followed while planning any
communication through this mode.

OR
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24.

Vikas owned a fruit juice bar by the name of “Tammy Juice’ where he sold
only organic range of vegetable and fruit juices. As these juices were
extracted by state-of-the-art machinery with hygienic methods therefore,
they were expensive. Such juices had a specific clientele. For expansion of
the business, Vikas opened five more outlets within a radius of three km.
All the outlets were in rented premises. Vikas was not in a position to
measure the quality and quantity of production. Thus, he could not create
the confidence in the customers with the quality offered. The fruits and
vegetables were not being properly used leading to wastage. Sale in all
the outlets reduced and slipped even below the breakeven level. His
competitor ‘Juice-Up’ introduced the same range of juices as offered by
Vikas at a lower price. In spite of this fact, Vikas did not make any

attempt to improve his customer base.

As a result within a year, he had to shut all the six outlets with huge
losses.

Quoting lines from the above para, identify and explain any four reasons
for failure of Vikas’s business.

T 15,00,000 T ek Higd J IUS hl dc¢ AT TH & IcA1eT I Toh FId™
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EliCRENIKRSIUGRES) 400 150 200
forsear fasr 50% 20% 30%

Mohan started his business of manufacturing leather belts and wallets in
Kanpur in the name of ‘Essentials’ by spending ¥ 15,00,000. He invested

< 8,00,000 of his own money and took a loan of ¥ 7,00,000 from Dena
Bank @ 7% per annum. His monthly sales revenue is ¥ 6,00,000 and
monthly cost of goods sold is ¥ 2,50,000. He pays a monthly salary of
T 50,000 to his employees. Monthly maintenance of machinery is
< 15,000. Electricity and miscellaneous charges per month are ¥ 10,000.

The tax rate on profit is 12%.
Calculate the following :
(a)  Return on Investment
(b)  Return on Equity

OR
‘Breezolit Pvt. Ltd. started a business of making three varieties of
designer fans - Vitara, Grand, Quadraflow. From the following

information, calculate Breakeven point in units for the company and
state which variety is most revenue generating.
Fixed costs are ¥ 15,20,000.

Details Vitara Grand Quadraflow
Sale Price (T) 800 450 600
Variable Cost () 400 150 200
Sales Mix 50% 20% 30%
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